Premo gibanje:

v = 2

CL,S=VXt, S=S-8; , t=t -1

Premo enakomerno:
v - konstantna
V= Vpovpretna= AX/At = s/t
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Ce t,=t, potem velja:

Pospeseno gibanje:
Av

Y

Enakomerno pospeseno gibanje:

a= konstanten

Vo= zaCetna hitrost

V=V, + aXt

(r +v)xt 0 xt!
sl =y s ——

at= v-vg
Enakomerno pojemajoce gibanje:
Av<0 => a<0 <= pojemek
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V=V, + at
s= vot + at?/2
Prosti pad:
t1:t2:t3:T4 = 1:2:3:4
h1:h2:h3:h4 = 1:4:9:16
g=10m/s?
s=at?’/2
2h=at’
v=at + Vv’
S1:gt2/2

Navpicéni met:
g=-10m/s?

h=s

t:VO/g

ti=t



